E # & B % & %
No.3 HHFRE#HZE
= | oo - B S=
MIBER | BEE \ERER T mx | EA | 51 Z 2R 2E |RRER
(X) (X) (AR) | EZ(m) | H(m)*1 |HE(m)
23,801.22 60| 9,520.49 26 12 0| 3,435.30 | 4,227.20 | 3,731.30
*1 FKIIFMEIE
BAR-PAR-ER (KH)
i =K FR BERX | 85K s &
)N 1 1
YT 2 2
NPE PPN 2 2
YA ) 7 7
M/ 3 3
E/F% 5 5
=AY 1 7 8
EXSVYRE 10 10
&&t 26 12 0 38
FHE-Z%F (@EmM)
[ELE bR EXR % | HE(mM) & &
YYD 169.60 74.80 244.40
)N A 77.40 77.40
ESRYYD 65.80 1.80 67.60
RoF IIs 75.70 75.70
RZHFAEF 23.20 23.20
N 2947.00 | 2947.00
&&t 411.70 76.60 | 2947.00 | 3435.30
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= | oo + B S=
el ol e =7 S B S 7 S I T EX AR
(X) (&) (X)) [AEZH) [ Fm* | BE(mM)
21,424.86 60| 8,569.94 175 19 0| 4503.10| 6,943.70 | 6,310.10
*1 BAKXREE
BAR-PAR-ER (KH)
BitE =K EaN BEXR [ BF(K) s &
Pt vV 16 16
WINE 4 1 5
EF/¥ 1 1 2
SN 11 11
RAZIEF 14 1 15
VERE) 3 3
Evasy 1 1
ol )oNA 6 6
ooFaADg 1 1
TA NS 5 5
AO/NEID 2 2
EAwS 2 1 3
aJy 1 1
EHLY 8 2 10
NFEXFE 37 1 38
LSHYFxT 2 1 3
P2 2 2
IHH5 13 13
UElPPi 4 2 6
a5 8 8
HXE 16 16
Io/% 9 1 10
E/N 17 17
a5t 175 19 0 194
FHE-Z%F (@miE m)
(ELE bR EXR 2% | &5t(m) g =
INAHY 183.40 183.40
I IID 84.80 84.80
AALSHFvE|  734.00 183.20 917.20
Ko Uy 364.10 364.10
RNZHFAEF 63.00 63.00
EN 14.40 14.40
SYNYYD 20.00 20.00
IR 115.10 115.10
EXRYAL 373.60 373.60
72 387.00 387.00
2 1980.50 | 1980.50
&&t 1364.50 28240 | 2856.20 | 4503.10




